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1. Please read the instructions given in the question paper CAREFULLY.

2. This question paper is printed on both sides of the paper.

3. This question paper consists of TWO (2) sections; Section A and Section B.

4. Answer ALL questions in SECTION A and SECTION B

5. Please write your-dpswers on the answer booklet provided.

6. All questions rQ&t be answered in English (any other language is not allowed). Q‘L
7. This qucs}\'\éncapaper must not be removed from the examination hall. .G O
X r,;..

s

THERF}’ARE FIVE (5) PAGES OF QUESTIONS, ONE (1) PAQéﬁ?OF FORMULEA AND ONE (1) PAGE

OF TABLE EXCLUDING TEHS PAGE.
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SECTION A (Total: 40 marks) <

< T
TN’STRUCTION: Answer ALL questions. *
Pt
Pleassyﬁe the answer booklet provided. oo
A, -
J
Question 1 OO
L
A project which requires an initial outlay of RM9,000 will produce the following annual
inflows.
Year 1 RM 2,000 c
Year 2 RM 4,000 \’6“\)
Year 3 RM 6,000 Al
5.
a. What is the present value ’&_‘.
(3 Marksy,

b. NPV if the discount rate is 8 % per annum <
(3 Marks) 2
<o [Total: 6 marks] +
&
Question 2 ?,
g

C
Rasa Simpati Sdn Bhd intends to give a scholafghip worth RMS,000 every year for six
years. How much must the company has to deposit into an account that pays an interest
of 7% per annum to provide the scholarship.

(5 Marks)
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Question 3 J S
R
s
R
Solve the following system by using Gauss(/ﬂg?dan elimination method.
<
R
(JO
X+y+z=5 <
2x+ 3y +52=8 /\d
4x +5z =2 @Qﬁ
' \19 Marks)
Question 4
Q-L
Nordin (e@eived a bonus of RM6,000.00. He planned to give all the money to his
Chi]dl;ﬁi’-], Dan, Din and Don according to the ratio X : 3 2. If the amount received by
DOR;?is RM2,000.
AN
& a) Amount received by Din
\J (2 Marks)
b) Amount received by Din and Don 4
R (2 Marks)
¢) The value of x G ¢
< (1 Mark) gV
@Q} [Total 5 Marks] (
O {
R
Question 56 (\’:‘?\
&
N

Alia has RM470,000 invested in two rental properties. One yields 10% on the
investment, and the other yields 12%. Her total income from them is RM51,000. How
much is her income from each property.

(5 Marks)
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Question 6 (6\3
?

( "?
Suppo@pQM‘[OO is deposited at the beginning of each month fL 03 years in an account
that pay 6 nually, compounded monthl @)

pay @99 y, comp y. >

3 =

(a) What is tﬁ?@%tal number of payment (or periods)?
. - (2.5 Marks)
(b) What is interest rate per period?
("2?5 Marks) -
(c) What formula is used to find the future value of annuity?

(2.5 Marks)
(d) Find the future value Q '
(2.5 Mark%‘
[Total 10 Marks) ‘Z&‘
S
‘%
Question 7 <y <,
Find the market equilibrium point for the fol!owlﬁg,demand and supply functions.
Demand: 2p =-q+ 320 ’P
Supply : p= 8q+2 U‘
O% - (5 Marks)
A
Ql@pon 8
RM1 800 Lp invested for 9 month at an annual simple interest rate 15%.
a) Howﬁzg):ah interest will be earned
A (2.5 Marks)
b) What is the future value if the investment after 9 months?
' (2.5 Marks)
[Total: 5 Marks) %
s
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SECTION B: Total (60 Marks) n}\
Q'
AV,
INSTRUGCTION : Answer ALL Questions

- Question 1

| P
Cukup Selesa Sdn Bhd produces sport attire. The cost of raw materials is RMRMzZ 66
per unit and the cost labour is RM15.00 per unit. Other variable cost is RM12 Q0-per
unit, Total fixed ggst is RM40,000.00. If a product can be sold at RM80.00 per ?E\jn

Q - &
a) Fonmﬂ)@e the total cost function C (x). \/&
*i% (4 Marks)
b) gdrmufate total revenue function.
(\,)Q“ (4 Marks)
\E)_ Draw a graph to determine :
) The break even price and value
. OQ* (8 Marks)
ity The profit if 3,000 unit where sold @)
| (\]:{5 (4 Marks)
&5 [Total:20 Marks]
. AP
Question 2 A%

~

Suppose that an economy has two sector, Mining and Electricity. For each unit Q
of output, Mining requires 0.4 units of its own production and 0.2 units of,
Electricity. Moreover, for each unit of output, Electricity requires 0.2 unitstf

Mining and 0.6 units of its own production. &
.
a) Determine the consumption of matrix C for the economy \,'\/
(4 Marks)

b) Find the inverse of (/- C)
A\

¢) Usjing the Leontif Model, determine the production levels from each sector that
are necessary to satisfy a final demand of 20 units fromunining and 10 units of

(8 Marks)

~Rlectricity.
R ' (JO (8 Marks)
(1-?. ‘ &
A Ay [Total: 20 Marks]
R
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The revenue)function and marginal cost function of a product are R (%) =200x ~ x2and
C'(x) = 0.1 X* + 2x + 800 respectively, find ‘

a) The cost function

(4 marks)
b} The profit function
(4-Marks)
c) The maximum revenue S
(4 Matids)
d) The price at maximum revenue "r:r‘
{4 Marks) dz
e) The increase in cost if the number of product increase from 50 unit to 100 units 2
(4 Marks) t?,\
2
[Total: 20 Marks]
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‘1. | I=Pr CJOQ
2. = _ c1 €2 n2 fir 3
NPV = - CO+ (m * i i ) P
3. [S=P{+r) Y
4. |S=PAH)P P
> lr=(1+24)" -1 v
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